SH7EE ERENRE—=
IMFER 3k
SMTEE %18 2F 2 8 2|5F 38 2F 4 8 HE i
#h4 HARR 48208 78208 | 10820H 18208
BARR—ViREtE2—#&] 10 240 240
P T A £ & |11 3,600 3,600
#a B & |12 0
¥ £ # |13 6,500 2,000 1,500 10,000
BERTEBELE | 14 0
& £ = B |15 0
H #& £ & |16 0
B ¥ £ & i 19 6,740 5,600 1,500 0 13,840
& g [ 0
B & |22 0
il B # |23 0
EEERE G 29 0 0 0 0 0
F B & & & F 30 6,740 5,600 1,500 0 13,840
HIEH 48
SHT7EE %18 2%E 2 8 2|5 3 8 2FE 4 8 K& i
#h4 HARR 4F20H 78208 | 10820H 1H20H
BARR—VREL4—#E] 10 240 240
P T A & & 11 3,600 3,600
#a B & |12 0
¥ £ # |13 3,500 2,500 6,000
EERITERILE |14 0
& £ = & |15 0
H & £ & |16 0
B 2 £ & & |19 3,740 6,100 0 0 9,840
= & 21 0
B E |22 0
il B Z |23 0
EEERE G 29 0 0 0 0 0
F B S 4E & F 30 3,740 6,100 0 0 9,840
HEH S8
SHTEE £ 18 oE 28 2FE 38 HNFE 48 »E E
#h4<+ 2R R 4F20H 78208 | 10820H 18208
BARR—VREtw2—#&] 10 240 240
P T A = & |11 3,600 3,600
#h B & |12 0
¥ F % |13 3,500 2,000 5,500
EERATERaLS |14 0
5 £ = B |15 0
H & £ & |1s 0
B 2 £ & & |19 3,740 5,600 0 0 9,340
& g |21 0
B E |22 0
il B & |23 0
EEERE S 29 0 0 0 0 0
B & E & 30 3,740 5,600 0 0 9,340




INERR 14

SM7EE %18 2NE 2 8 H%E 3 8 ANE 48 HNE §

#h 4 2ARR 4F20H 7H208 | 108208 | 1H20H
BAZRR—VREE 2—#E] 10 550 550
P T A = & |11 3,600 3,600
A B & |12 0
g F # |13 11,250 250 3,000 14,500
EERITEREILE | 14 0
E £ = & |15 0
B & £ # |16 0
B % &£ & & |19 11,250 4,400 3,000 0 18,650
& Z |2 4,000 4,000
B & |22 0
Gl B Z |23 0
B ERE G |2 4,000 0 0 0 4,000
F B &4 5 : 30 15,250 4,400 3,000 0 22,650

INEE 24F

SMTEE %1 o|FE 2 8 2|FE 38 HE 48 HE B

i1 2R 48208 78208 | 108208 | 1H20H
BARR—VREtE 2—#E] 10 550 550
P T A == & |11 3,600 3,600
#h B Z |12 0
¥ i % |13 11,000 11,000
BEERITEEILE | 14 0
£ £ = & |15 0
BH #A& £ & |16 0
B % &£ & & |19 11,000 4,150 0 0 15,150
& g [21 4,000 4,000
B & |22 0
fifl B = 23 0
TBEERE R 29 4,000 0 0 0 4,000
F B &4 & : 30 15,000 4,150 0 0 19,150

INEE 34

SMTEE %18 2|%F 2 8 2% 38 HF 4 8 HE B

4 2R 48208 78208 | 108208 | 1H20H
BARR—VREt2—#&] 10 550 550
P T A & & |11 3,600 3,600
#a B & |12 0
¥ F # |13 12,000 12,000
EERTEBELE | 14 12,500 12,500
& £ = & |15 0
BH & £ & |16 0
B % &£ & & |19 12,000 4,150 12,500 0 28,650
= Z |21 4,000 4,000
B & |22 0
Gl B & |23 0
TEERE G 29 4,000 0 0 0 4,000
F B S 4% & F 30 16,000 4,150 12,500 0 32,650




INEE A%

SM7EE %18 2NE 2 8 H%E 3 8 ANE 48 HNE §

#h 4 2ARR 4F20H 7H208 | 108208 | 1H20H
BAZRR—VREE 2—#E] 10 550 550
P T A = & |11 3,600 3,600
A B & |12 0
g F # |13 11,750 1,250 1,000 14,000
EERTEREILE | 14 12,500 12,500
E £ = & |15 0
B & £ # |16 0
B % &£ & & |19 11,750 5,400 13,500 0 30,650
& Z |2 4,000 4,000
B & |22 0
Gl B Z |23 0
B ERE G |2 4,000 0 0 0 4,000
F B &4 5 : 30 15,750 5,400 13,500 0 34,650

INEER 54

SMTEE %1 o|FE 2 8 2|FE 38 HE 48 HE B

i1 2R 48208 78208 | 108208 | 1H20H
BARR—VREtE 2—#E] 10 550 550
P T A == & |11 3,600 3,600
#a B & |12 0
¥ F % |13 11,750 250 12,000
EERITEEILE | 14 10,000 6,500 16,500
£ £ = & |15 0
BH #A& £ & |16 0
B % &£ & & |19 21,750 10,900 0 0 32,650
& g [21 4,000 4,000
B & |22 0
fifl B = 23 0
TBEERE R 29 4,000 0 0 0 4,000
F B &4 & : 30 25,750 10,900 0 0 36,650

INEE 64F

SMTEE %18 2|%F 2 8 2% 38 HF 4 8 HE B

4 2R 48208 78208 | 108208 | 1H20H
BARR—VREt2—#&] 10 550 550
P T A & & |11 3,600 3,600
#a B & |12 0
¥ F # |13 13,450 850 14,300
EERTEBELE | 14 12,000 12,000
& £ = & |15 0
BH & £ & |16 0
B % &£ & & |19 25,450 5,000 0 0 30,450
= Z |21 4,000 4,000
B & |22 0
Gl B & |23 0
TEERE G 29 4,000 0 0 0 4,000
F B S 4% & F 30 29,450 5,000 0 0 34,450




A 1E (EFELL)

hE 24

SH7EE £ 18 2NE 28 HF 38 HNFE 48 HE B
#h4 2ARR 4F20H 7H208 | 108208 | 1H20H

BARR—VREEZ—HE] 10 550 550
P T A = & |11 3,600 3,600
i) B & |12 0
¥ F & 13 12,000 3,700 15,700
EERTERILS 14 15,000 20,000 35,000
£ = B |15 0
H & = & |16 0
B ¥ &£ & it 19 27,000 27,850 0 0 54,850
& & 21 4,000 4,000
B Z |22 0
Gl B # |23 0
T E SR E: 29 4,000 0 0 0 4,000
ZE S 4% & 3 30 31,000 27,850 0 0 58,850

thap#f 34
SHTEE 18 2%FE 2 8 21FE 3 8 HFE 4 8 K& H

#h4<+ 2R RR 48208 78208 | 108208 | 1H20H

BARR—VRE2—H#&] 10 550 550
P T A = & |11 3,600 3,600
#a B & |12 0
¥ F & 13 12,000 2,500 14,500
EERTEBELE | 14 10,000 10,000
5 % = B |15 0
H & £ & |16 0
B ¥ &£ & &t 19 12,000 16,650 0 0 28,650
= E |21 4,000 4,000
B Z |22 0
fifl B = 23 0
FEERE G 29 4,000 0 0 0 4,000
FB®H E &£ & F 30 16,000 16,650 0 0 32,650




=S 1414

SH7EE £ 18 2NE 28 HF 38 HNFE 48 HE B

#h4 2ARR 4F20H 7H208 | 108208 | 1H20H
BAZR—YREw4—#&] 10 1,930 1,930
P T A = & |11 3,600 3,600
i) B & |12 0
e F & 13 10,500 8,000 4,500 23,000
EERITEBEILSE 14 10,000 10,000 10,000 30,000
£ % & & |15 1,400 1,400
H & = & |16 0
B ¥ £ & &t 19 23,830 21,600 14,500 0 59,930
& & 21 4,000 4,000
B Z |22 0
G B & |23 0
T E SR E: 29 4,000 0 0 0 4,000
B E LB G 30 27,830 21,600 14,500 0 63,930

BEE 1424

SMTEE %18 2%FE 2 8 2|%F 3 8 HFE 4 8 K& H

#h4<+ 2R RR 48208 78208 | 108208 | 1H20H
BARR—VREE 4—#&] 10 1,930 1,930
P T A & & |11 3,600 3,600
#a B & |12 0
¥ F & 13 12,500 6,500 3,500 22,500
EERITERILSE 14 10,000 10,000 10,000 30,000
£ # = & |15 1,400 1,400
H & £ & |16 0
B ¥ &£ & &t 19 25,830 20,100 13,500 0 59,430
= E |21 4,000 4,000
B & 22 35,000 35,000
fifl B & 23 0
FBEERE G 29 4,000 0 35,000 0 39,000
FB®H E &£ & F 30 29,830 20,100 48,500 0 98,430

BEEH 1434

SMTEE %18 2FE 2 8 2|5F 38 2FE 4 8 HE i

4 2R 48208 78208 | 108208 | 1H20H
BARR—VREt2—#&] 10 1,930 1,930
P T A = & |11 3,600 3,600
#a B & |12 0
¢ F & 13 11,500 8,000 2,250 21,750
EERITERILE 14 10,000 10,000 10,000 30,000
=3 1 = & 15 1,400 1,400
BH #&B £ & |16 0
@ ¥ £ & &t 19 24,830 21,600 12,250 0 58,680
& & 21 4,000 4,000
B & |22 0
fifl B & 123 0
TEERE G 29 4,000 0 0 0 4,000
F B S 4% & F 30 28,830 21,600 12,250 0 62,680




BEE 2514

SH7EE %18 2% 2 8 2|5F 3 8 2F 4 8 KA H

1<+ 2 BR 48208 78208 | 108208 | 1H20H
BARR—VREw 2—#2] 10 1,930 1,930
P T A & & |11 3,600 3,600
#a B & |12 0
& F & 13 2,500 8,000 4,000 14,500
EERTERILSE 14 30,000 30,000
£ £ = & |15 1,400 1,400
H & £ & |16 0
B ¥ £ & &t 19 35,830 11,600 4,000 0 51,430
= E |21 4,000 4,000
B Z |22 0
il B & 23 0
B S8 E G 29 4,000 0 0 0 4,000
FB®H & & F 30 39,830 11,600 4,000 0 55,430

B 2424

SH7EE %18 2F 2 8 2|5F 38 2F 4 8 HE i

4 2R 48208 78208 | 108208 | 1H20H
BARR—VRE2—#&] 10 1,930 1,930
P T A &= & 11 3,600 3,600
fie] B & |12 0
g F & 13 5,000 6,500 3,500 15,000
EERTEBELE | 14 30,000 30,000
=3 1 = & 15 1,400 1,400
B #& £ & |16 0
B ¥ £ & & |19 38,330 10,100 3,500 0 51,930
& & 21 4,000 4,000
B & |22 0
fifl B & 123 0
EBEE®XE G |29 4,000 0 0 0 4,000
F B & 4 &5 &t 30 42,330 10,100 3,500 0 55,930

BEE 2434

SH7EE %18 2FE 2 8 2|5F 38 2FE 4 8 HE i

4 2R 48208 78208 | 108208 | 1H20H
BARR—VREt2—#&] 10 1,930 1,930
P T A & & 11 3,600 3,600
#a B & |12 0
¢ F & 13 5,000 8,000 2,250 15,250
EERITERILE 14 30,000 30,000
=3 1 = & 15 1,400 1,400
BH #&B £ & |16 0
B ¥ £ & & |19 38,330 11,600 2,250 0 52,180
& & 21 4,000 4,000
B & |22 0
fifl B & 123 0
TEERE G 29 4,000 0 0 0 4,000
F B S 4% & F 30 42,330 11,600 2,250 0 56,180




EEE 3414

SH7EE %18 2E 2 8 2E S H 2E 48 HE &
4 2R 48208 78208 | 108208 | 1H20H
BAZR—VRE+2—#2] 10 1,930 1,930
P T A &= & 11 3,600 3,600
#a B & |12 0
g F & 13 10,000 3,000 13,000
EFERnEmae |14 0
=3 1 = & 15 1,400 1,400
BH & £ & |16 0
B ¥ £ & & |19 13,330 6,600 0 0 19,930
& & 21 4,000 4,000
B & |22 0
il B & |23 0
B ERE 29 4,000 0 0 0 4,000
FBE S 4% 4 F 30 17,330 6,600 0 0 23,930
BEE 3524
SH7EE £ 18 2FE 28 2|F 38 2FE 4 8 »E i
4 2R 4F20H 78208 | 108208 | 1H20H
BARRR—VREtS—#E] 10 1,930 1,930
P T A == & |11 3,600 3,600
fie] B & |12 0
g F & 13 12,500 3,500 16,000
EEMRITEBEILE | 14 0
& % = & 15 1,400 1,400
BH & £ & |16 0
B ¥ £ & & |19 15,830 7,100 0 0 22,930
& & 21 4,000 4,000
B E |22 0
il B & 123 0
TBEERE 29 4,000 0 0 0 4,000
FBE S 4% 4 F 30 19,830 7,100 0 0 26,930




REEAH - -HER 1~3F

SMTEE £ 18 2NE 2 8 2NE 3 H ANE 4 8 2NSE H
4 2R 48208 78208 | 108208 | 1H20H

HARR—VRE+E 2—#2] 10 1,930 1,930
P T A == & |11 3,600 3,600
a5 B & |12 0
¥ & & |13 0
EERITEBELE | 14 0
& % = B |15 0
H & &= & |16 300 300
B % &£ & & |19 2,230 3,600 0 0 5,830
& Z |21 4,000 4,000
B & |22 0
il B & |23 0
B ERE 29 4,000 0 0 0 4,000
FBE S 4% 4 F 30 6,230 3,600 0 0 9,830




REBEN 15

SH7EE £ 18 2NE 28 HF 38 HNFE 4 8 HE B

#h4 2ARR 4F20H 7H208 | 108208 | 1H20H
BARR—YRE2—#2] 10 1,930 1,930
P T A = & 11 3,600 3,600
el B & |12 0
¥ =3 & 13 15,000 10,000 25,000
EERTERBEILE | 14 0
% = & |15 0
H A = & |16 300 300
B ¥ £ & &t 19 17,230 13,600 0 0 30,830
& & 21 4,000 4,000
B Z |22 0
G B & |23 0
T E E R E B 29 4,000 0 0 0 4,000
R - 30 21,230 13,600 0 0 34,830

RERMEH 2F

SH7EE %18 2% 2 8 2|%FE 3 8 HF 4 8 K& H

#h4<+ 2R RR 48208 78208 | 108208 | 1H20H
BARR—VREE 2—#&] 10 1,930 1,930
P T A & & |11 3,600 3,600
#a B & |12 0
¥ £ Z |13 3,000 3,000
EERITEBELE | 14 0
5 % = & |15 0
8 A = & 16 300 300
B ¥ X & &t 19 5,230 3,600 0 0 8,830
= E |21 4,000 4,000
B Z |22 0
Bl B # |23 0
FBEERE G 29 4,000 0 0 0 4,000
FB®H E &£ & F 30 9,230 3,600 0 0 12,830

RERER SF

SMTEE %18 2|%F 2 8 2% 38 HF 4 8 HE i

4 2R 48208 78208 | 108208 | 1H20H
BARR—VRE2—H#&] 10 1,930 1,930
P T A = & |11 3,600 3,600
#a B & |12 0
¥ £ # |13 17,000 17,000
EFERITEBILE | 14 0
& £ = B |15 0
H & &= & |16 300 300
@ ¥ £ & &t 19 19,230 3,600 0 0 22,830
& & 21 4,000 4,000
B E |22 0
il B & 123 0
TEERE G 29 4,000 0 0 0 4,000
F B S 4% & F 30 23,230 3,600 0 0 26,330




EERGER 14

SH7EE £ 18 o|E 2 8 2|FE S8 HFE 48 »a i

#h4 2ARR 4F20H 7H208 | 108208 | 1H20H
BAZR—YREw4—#&] 10 1,930 1,930
P T A = & |11 3,600 3,600
i) B & |12 0
¥ F Z |13 0
EERTEELE | 14 0
% == & |15 0
B A = & |16 300 300
B 2 £ & & |19 2,230 3,600 0 0 5,830
= E |21 4,000 4,000
B g |22 0
G B & |23 0
EEEHRE G |29 4,000 0 0 0 4,000
B E LB G 30 6,230 3,600 0 0 9,830

HPRER 26

SH7EE £ 18 o|E 2 8 2|FE 38 2FE 48 »la 5

#h 4 2ARR 4F20H 7H208 | 10A208 | 1H20H
BARR—VRE+2—#2] 10 1,930 1,930
P T A = & |11 3,600 3,600
i) B & |12 0
¥ F Z |13 0
BEERTERILE |14 0
% == & |15 0
B A = & |16 300 300
B 2 £ & & |19 2,230 3,600 0 0 5,830
& Z |21 4,000 4,000
B & |22 0
G B Z |23 0
F B ERE G |2 4,000 0 0 0 4,000
B E LB G 30 6,230 3,600 0 0 9,830

HPREF 3F

SH7EE £ 18 o|E 2 8 2|FE 38 2FE 48 »la 5

#h 4 2ARR 4F20H 7H208 | 108208 | 1H20H
AARKR—ViREE 2—#e] 10 1,930 1,930
P T A & & |11 3,600 3,600
#a B & |12 0
¥ £ % |13 11,000 11,000
EERITERILE |14 0
& £ = & |15 0
H & & & |16 300 300
B % &£ & & |19 2,230 14,600 0 0 16,830
= Z |21 4,000 4,000
B Z |22 0
il B Z |23 0
EEERE 29 4,000 0 0 0 4,000
FBE EHE & 30 6,230 14,600 0 0 20,830




